Which Has the Most? Answers

1. Sx4isequalto4x5

True - both equal 20
2. To halve a number, you divide it by 4.

False - to halve a number, divide it by 2
3. 3x5>2x10

False — 20 is greater than 15
4. If you divide a number by 2, the answer is always even.

False — 6 divided by 2 equals 3
5. If you divide 50 by 10, you get an odd number.

True-50:10=5
6. The sixth number in the 5 times table is even.

True-6x5=30
7. Seven pens costing Sp each are more expensive than four pens costing 10p each.

False — 35p is cheaper than 40p
8 100+10<2x5

False — 100 - 10 is equal to 2 x 5
9. 8x2=3x5

False — 16 is not equal to 15
10. If you divide 40 by 5, you get an even number.
True-40:5=8
11. There are 13 marbles and two jars, if you share them equally, there will be none left over.

False — There would be one left over
12. Multiplication is the inverse (opposite) of division.

True
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